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Solve the Word Problem
1) A toy store started with 675 stuffed animals. They sold 248 during a

weekend sale. What is the remaining balance after they received a
shipment of 135 more stuffed animals?

2) The difference between the number of red marbles and blue marbles
in a jar is 56. If there are 138 red marbles, and 42 green marbles were
added to the jar, how many marbles are there altogether?

3) Jack had some baseball cards. He gained 45 more cards from his
friend and now has 132 cards in total. If he gives 38 cards to his
brother, how many baseball cards will Jack have left?

4) The combined total of two numbers is 485. If one number is 267,
what is the other number? If you subtract 59 from this number, what
is the difference?

5) A farmer harvested 567 kg of potatoes. Some potatoes were
damaged, leaving 478 kg of good potatoes. If he sold 295 kg at the
market, how much is left after selling?


